



이름: _____

날짜: _____ 점수: _____

$$\left(\frac{1}{3}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{4}\right) - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right) + \frac{3}{5} =$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{5}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{2}{5}\right)^3 + \frac{3}{4} =$$

$$\left(-\frac{3}{4}\right)^3 - \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{6} =$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{5}\right) + \frac{1}{2} =$$

$$\left(\frac{1}{6}\right) + \frac{1}{3} =$$



이름: _____

날짜: _____ 점수: _____

$$\left(\frac{1}{3}\right)^3 - \left(-\frac{1}{6}\right) = \frac{11}{54}$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{5}{24}\right)$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{2}{5}\right) = \frac{51}{125}$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{1}{4}\right) = \frac{13}{16}$$

$$\left(\frac{1}{4}\right) - \left(-\frac{3}{4}\right) = 1$$

$$\left(-\frac{1}{2}\right)^2 + \frac{3}{5} = \frac{17}{20}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{2}\right) = \frac{3}{8}$$

$$\left(-\frac{1}{2}\right) + \frac{3}{5} = \frac{1}{10}$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{2}{5}\right) = \frac{1}{15}$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{1}{6}\right) = \frac{7}{36}$$

$$\left(\frac{1}{5}\right)^3 - \frac{1}{2} = \left(-\frac{123}{250}\right)$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{3}\right) = \frac{1}{6}$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{1}{2}\right) = \frac{17}{16} = 1\frac{1}{16}$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{35}{192}\right)$$

$$\left(\frac{2}{5}\right)^3 + \frac{3}{4} = \frac{407}{500}$$

$$\left(-\frac{3}{4}\right)^3 - \frac{1}{2} = \left(-\frac{59}{64}\right)$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{6} = \frac{29}{150}$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{1}{3}\right) = \frac{2}{75}$$

$$\left(-\frac{1}{5}\right) + \frac{1}{2} = \frac{3}{10}$$

$$\left(\frac{1}{6}\right) + \frac{1}{3} = \frac{1}{2}$$